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Poolability Test (between Pooled Regression and FE Model)

Compared with our old pooled regression model, the new LSDV fixed effects model has a higher
R? value. Hence the question comes up: Which model is better? The pooled regression with
constant slope and constant intercept or the LSDV fixed effects model with constant slope and
variable intercept for companies? The question can be reframed also as: Can we assume that
there is neither significant cross sectional nor significant temporal effect, and pool the data and
run an OLS regression model with an intercept & and slope coefficients fs constant across
companies and time? This is the poolability test.

Note that compared with the second (FE) model, the first one (pooled regression) is a restricted
model; it imposes a common intercept on all companies: > = i3 = u 4= st. Hence we have to do
the restricted F test given by

_ _(REr—RE)/J
(1-Rfg)/(n—k)

where Ryr® = R” of the unrestricted regression (second model)
Rg’ = R? of the restricted regression (first model)
J = number of linear restrictions on the first model
k = number of parameters in the unrestricted regression

n = NT = number of observations

This poolability test we can do in Stata after the regression with the factor wvariable i.ind, by
typing

. testparm i.ind
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